DELHI PUBLIC SCHOOL JAMMU
SESSION :2024-25
REVISION SHEET ( FINAL EXAMINATION)

CLASS: 1 SUB: MATHEMATICS

General Instructions :

Section A choose the correct option.
Section B very short answer questions.
Section C short answer questions.
Section D long answer questions.

SECTION-A
Choose the correct option:

Q1. When the largest 2 -digit number is divided by 3,we get
a) 33 b) 3 c) 333

Q2. One — third is written as

a) - b) = c)

5

Q3. The shape of a dice is

a) cube b) cone c) cylinder
Q4. 1kg = 0.
a) 10 b) 100 c) 1000

Q5. % of 30 caps =

a) 5 b) 20 c) 10

SECTION-B



Q6. Divide and find the quotient and remainder.

a) 808 by 6

b) 936by 2
Q7. Draw two solid shapes , plain shapes and write their names .
Q8. Convert 35 m 50 cm into cm.

Q9. 6570 ml = I ml.

Q10. Divide using long division.
a) 5759 by 5

Q11.Draw the line segments of the given lengths.
a) 7cm b) 4cm
Q12.Draw any two closed or open figures.
SECTION-C
Q13. Write true or false for the following:

a) The standard unit of length is litre.
b) A ruler is used to measure line segments.

Q14. Draw a cube and write their edges, flat faces and vertices.

Q15. Match the following.

Division statement Quotient Remainder
a) 248 +2 a) 231 1
b) 960 +3 b) 124 0
c)694 +3 c) 320 0

Q16. Solve



a)2 kg 332g +4 kg 298 g
b)91350ml - 41 650 ml

Q17. Fill in the blanks.

a) 4256m= __  _km __m

b) 100ml + 300 ml + ml =1L
Cc) 2kg 230 g = g

dlkg = g+250g+500¢9

Q18. Write the quotient and remainder .

a) 5432 + 10 , Quotient = , Remainder =
b) 9876 + 10, Quotient = , Remainder =

Q19. How many groups of 8 are there in 48 ?

Q20. In a garden there are 1998 trees in 9 rows . If each row has the same
number of trees ,how many trees are there in each row ?

Q21. A coolie carries weight of 12 kg 825 g and 30 kg 712 g together.
What is the total weight carried by the coolie?

SECTION-D

Q22. Arrange the fractions.

5

5 5
9’ 7' 10’

o |un

(in ascending order )

Q23. Arrange the fractions .

3 5 9 2

—., —, — , — (indescending order
17" 17" 17 ' 17 ( g )

2
Q24. In aclass , there are 25 students. - are boys. How many boys are
there ?



Q25. Read the following statements and guess the shape with the help of
clues given below.

Square Rectangle Circle Triangle Cuboid Cone

a) | have 4 sides :

b) I am a birthday cap :

¢) My two opposite sides are equal .
d) | have 3 sides :



	Choose the correct option:

